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SHEEEZDREME(L 31,045 b THIERBAL 85.0 %IZH->TULET,
EE/MHREDI1ELEL 745 % T, BIERBICHER 72 RAVMELGE>TULET,

(WERERE (AL b))
X 7 6 F E 5 fF X3 Hil 4 [F1 #A L
T & N E 1,533 1,265 121.2%
T @ /KK E 28,884 34,731 83.2%
T E KA KE - -
T B g = - -
E — L X % 2 4 48.6%
¥ F B = 626 540 116.0%
a it 31,045 36,540 85.0%
(2) F#R L= (BT %)
B 4 6 F & 5 fF @
1 % 2 % E50E | B 1 % 2 % 5 E | FEs
T & N E 64.4 33.0 2.6 57.4 39.6 3.0
T @ /KK E 74.5 6.1 19.3 81.7 55 12.8
@ KHaKE - - - - - -
T B B =% - - - - - -
E — L X % - - 100.0 - - 100.0
2 GEJREHRERVEHRLE (B )
X % 8 A REH=E| 1 F 2 % EF45E | BES =L
T @ I EpEbhL 554]  47.1%|  49.6% 3.3%
WD&HHE IS 418| 100.0% - -
FHES 242 4.2% 90.3% 5.5%
BRHRKRIE 250  97.9% - 2.1%
EDEDL 55 97.5% - 2.5%
WwE(E3Hh 8 -|  100.0% -
TAARaLE 1 - - 100.0%
T Dk 5 8.5% 91.5% -
@ N KK E|TPAN—=RI/D 26,179 74.6% 5.4% 19.9%
FR5FLH 2,349 84.5% 0.4% 15.1%
S/ LX 312 20%  94.8% 3.2%
RIANT7A18— 7 - 86.2% 13.8%
TNk 37 - 85.3% 14.7%
T E KA KZE -
T B B = -
E — L K ZE|[FDH 2 -|  100.0%
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SHFEEZDREYRE(L 954 N THIERIALL 1004 %IZH->TNVET,

(WERERE (AL b))
X 7 6 F E 5 fF X3 Hil 4 [F1 #A L
T & N E 598 493 121.1%
T @/ KE 356 456 78.0%
T E KA KE - -
T B g = - -
E — JIL XK & - -
B ¥+ B = - -
a it 954 950 100.4%
(2) F#R L= (BT %)
B 4 6 F & 5 fF @
1 % 2 % E50E | B 1 % 2 % 5 E | FEs
T & N E 13.4 84.0 2.6 - 98.4 1.6
T @/ KE 1.7 94.6 3.7 - 98.9 1.1
@ KHaKE - - - - - -
T B B =% - - - - - -
E — JIL K & - - - - - -
2 GEJREHRERVEHRLE (B )
X % 8 A REH=E| 1 F 2 % EF45E | BES =L
T @ N E|RPEEHD 347 20.2% 79.1% 0.6%
BEES 242 4.2%  90.3% 5.5%
WwE(E3Hh 8 -|  100.0% -
F Dt 0 -|  100.0% -
L@ /M K E[Z/LY 312 20%  94.8% 3.2%
FR5FLH 9 -|  97.3% 2.7%
TN 35 -|  91.5% 8.5%
T E KA KZE -
T B B = -
E — L X & -
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SHEEZDHREHE(L 11,631 F THIERBAL 884 %IZHE->TLVET,

EE/PMHREDI1ELEL 781 % T, BIERBICHER 84 RAVMELLE>TULET,

(WERERE (BfsL: b))
X & 6 F E 5 & B x5 4E B # L
r @ I E 122 76 160.3%
T &/ KE 11,218 12,909 86.9%
T E KA KE - -
T &8 ©§ = - -
E — JL K £ 2 4 48.6%
B F H E 289 160 180.1%
a £t 11,631 13,150 88.4%
(2) F#R L= (B 131 : %)
B 4 6 F & 5 fF @
1 % 2 % | H9LE | BEN | 1 % 2 % | 5L | KN
r @ I E 97.7 - 2.3 96.7 - 33
T & /I KE 78.1 0.1 21.8 86.5 0.4 13.1
@ KHaKE - - - - - -
T & $©® = - - - - - -
E — L XK & - -|  100.0 - - 100.0
2 GEJREHRERVEHRLE (BfsL: b))
X & 8 A REH=E| 1 F 2 % EF45E | BES =L
T @ N E|RPEEHD 67 97.8% - 2.2%
EDEDL 55 97.5% - 2.5%
T Dk - - - -
T @ /K Z|TPAIN—=R/D 11,215 78.1% 0.1% 21.8%
TNk 3 - - 100.0%
= K #I K & -
T &8 $® =% -
E — L K ZE|¥FD 2 -|  100.0%
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SHEEZDHREHE(L 5,881 b THIERBIL 934 %IZHE->TLET,
EE/PMHKREDI1EFLEL 52.6 % T, BIERAICHER 115 RAVMESHE->TLVET,

(MEERE (B fL: k)
X & 6 F E 5 fF IR R A LE
r @ I E 145 146 99.2%
T @/ KE 5,736 6,106 93.9%
T E KA KE - -
T &8 ©§ = - -
E — JIL XK & - -
2 F H =% - 42
a £t 5,881 6,295 93.4%
(2) F#R L= (B 131 : %)
B 4 6 F & 5 fF @
1 % 2 % | H9LE | BEN | 1 % 2 % | 5L | KN
r @ I E 86.4 2.6 11.0 84.8 0.4 14.8
T @/ KE 52.6 24.8 22.6 64.1 20.8 15.1
@ KHaKE - - - - - -
T & $©® = - - - - - -
E — L XK & - - - - — —
2 GEJREHRERVEHRLE (BfsL: b))
X & fn B A BREHE| 1 F 2 % EF45E | BES =L
T @ N E|RPEEHD 140 89.5% - 10.5%
aARralL¥ 1 - - 100.0%
T Dk 4 -|  100.0% -
T @ /K Z|TPAIN—=R/D 5,730 52.7% 24.7% 22.6%
RIANT7A18— 7 - 86.2% 13.8%
TNk - - - -
T E KA KZE -
T &8 $® =% -
E — L X &
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LEPBREDI1ELEIL 84.2 % T, AIERMICEAR 2.9 RAVMELLE>TLVET,

(1 BRERE (BT )
X & 6 F E 5 fF fE T EIT4E B HA L
T & N % 669 550 121.7%
T @ MK E 11,574 15,259 75.8%
T @ KA KZE - - -
T B B = - - -
FE — JL K &£ - - -
B F B = 337 337 100.1%
a it 12,580 16,146 77.9%
(2) FfR L (B4 - %)
B 4 6 F & 5 &F B
1 % 2 & 5 E | RiEH 1 & 2 & 45 E | RiEH
T & N % 99.2 - 0.8 96.1 2.7 1.1
R NE 84.2 - 15.8 87.1 0.9 12.1
T @ KA KZE - - - - - -
T B B = - - - - - -
E — JIL K & - - - - - -
2 SENREBERUVEFRLE (BEAL: )
X % fn 12 £ BREH=E| 1 F 2 & E5NE | BEN =Li
T @B N EpHBEM 418] 100.0% - -
BHRKIE 250] 97.9% - 2.1%
Z Dk o] 100.0% - -
L @K K E|TFAIN—RID 9234 84.1% - 15.9%
[ZHh5FLH 2,340 84.8% - 15.2%
D - - - -
LEAHKXE -
T B B = -
E — L K & -
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